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Instructions to candidates:

1. Students who have attended 30 Marks IA scheme will have to answer for
total of 70 Marks.
30 wosny o307 %’éaﬁg b eoag_z,am'w 70 &oEn¢ g%h‘wf VIO

2. Students who have attended 20 Marks IA Scheme will have (o answer
for total of 80 Marks.
20 wosn'y &os0F wdsan Wb Qe PEIG 80 o'y IV LFoPD.

3. Note : Q.No. (18 or 19) in SECTION ~ D is compulmry for 80 Marks
Scheme only. ‘
"’é‘&" B avQ b 55’3? 8 wioe 19, 80 @osny ﬁdﬁaﬂa‘ﬁﬁ a"zaaai:

PART - A
PATALT S

L Answer any FIVE of the following questions. 2 Marks each: 5X2=10
PN alRigeRmde o JIner evgos Jem 2 wouh:

1. Mention any four functions of Statistics. '
Nos:faasaNm‘ O3RRTRER [OLY, FODFNIFE, FRbA.

2. Whatis Prlmary Data?
TRPNT TT08 HOTTerD?

3. What do you mean by classification of data?
TBOENY DONEER 2OTTERT

4. Mention the methods of calculdtmg arithmetic mean.
38 HoRROOD, FODLBODLY BT DPOSNG), TEROA.

5. Mention the four rerjuisitcs of a good average.
PUBeD FOPRLOL T STFINI, 394,

6. What do you mezn by Skewness?
DusH3on W ddead SLOHTOO?

7. What is interpolation and extrapolanon”
&S0303 ?,5:,)% I T AAL Enlolnisl ool

8. What is index pumber?
mw%oﬁdoddea}?
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PART - B o
Batity SR S oL -
1. Answer any THREE of the following questions. 10 Marks each: 3X10=30

FNT alRHIs oAt FINYA CVB0R. O 10 wozne:

9, What do you mcan by tabulation? Explain the essentials of a good table.
Zo¥ To wif Jeked 3¢ SOTOR0T wWold MBI W VBBBIRTIRH?

10. What is medlan" 1~.xpldm the merits and llmuatlom of mCdldIl
L aoddeaﬁ‘? BHEE WRBRONH TR ASNIVEY, DFOA.

11. Calculate mean, median and modc from the following data. -
@ 3506 ﬁaaoﬁ&od ndd oo, aSaqSﬁ m@b 2303 omf)cdaa& 30&@3@{3

Age 20-25 25-30 30- 35 35-40 40-45 45-50 50-55 55-60
No of Persons 14 28 33 30 20 15 13 07

12. From the prices of Qharcs Xand Y given below ‘state WhiLh qharc 1<‘. morc stable in
value..
g fUR BRyc® X ahd) Y Sednvd odes deth t3odd :&d:«ioaaczj nad.

X 55 54 52 53 56 58 52° 50 51 49+
Y 108 107 105 105 106 107 104 103 104 101

13. Using Binomial expansion method of interpolation, estimatc the export made in the

month of April.

3 @Nok o URs DU Hgdohak, evEodsnA Haot ondy) HRBW d..pa')

HOW L EBORDO, : : : LS
Months ' Jan Feb Mar 'Apr 'Mﬁy “-'Jimc i

Exports (T.inCrores ) 150 235 365 7 525 . 780

PART - C
e - &

HI.  Answer any TWO of the following questions. 15 Marks each: ' 2X 15530
NS Xyt D0 FIACR 3ol I 15 wosns: e

14. Define Statistics. hxpldm the mcm‘; and limitations of Statistics.
ROSTTOHTI w3, Ded. TOaTY mmd UTO3LENNT &0BY VSWSNFY, VWO, -

15. Calculate Co — cfficient of skewness based on mean and median from the following

distribution. .
gy $9303 J)p:ciﬁol’bod psfopYafe) aSa:«So md 55‘5 c‘:‘»ecﬁ LU[IOOWI DT 550?3033 r%:s"aﬁ&SEi{l
BOTGRCDO. ‘ o '
Class Interval  0-10 10-20 20-30 30 —-40 40-50 50-60 60-70 '70 - 80
Freguency 6 12 22 48 56 32 i8 6

Contd.......... 3
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16. Calculate Karl Pearson’s Co — efficient of correlation between marks scored by A and -

B section Students in Income Tax Subject Class Test
& 39N TEROBOOT T ACNVRT, ABWOG LRFIoP®, TORGBAWD.

Marks of ‘A’ Section Students 23 27 28 28 29 30 31 33 35 36

Marks of ‘B’ Section Students 18 20 22 27 21 29 27 29 28 29
17. From the following data calculate price index number using Tisher’s ideal index

number. Also show how Fishers index number satisfies TR and FRT.

8 $9NI TBWOBHOT B ARFOIIT, $IOTRIT BT RO R

sombBond, TNk HITCRT ARBOEY Do ToeS G H0eE ) WTTSFT

doem @ ToedndR, Tt WHRFHod deeda.

2010 2013
Commoditics Price Quantity Price Quantity
A 10 120 12 140
B 12 80 15 150
C 11 225 10 250
D 16 23 18 35
I 20 175 24 200
F .5 100 06 130
PART - D
e - &

V.  Compulsery for 8¢ Marks.
80 wosny ZJ B sayon JY,

Answer any ONE af the following questions. 10 Marks each: 1X10=10
NS oo aorb ggﬁ &304, e 10 ot

18. From the data given below:
a) Obtain two regression equations
b) Lstimate the value of X when Y is 168
¢) Esumate the value of correlation Co - efficient with the help of bxy and byx.

8 9N EIROBRYOT: *
a) oW @’éead Adneasresmy, 30m L@od
b) Y & ddoin 168 wmen X & Sk, 30@ LBoW.
) ABBIFIoR FowonBI, bxy D byx J AHODHOT FORLACRG.

X 70 65 78 50 60 8 75 55 68 74 49 85
Y 160 155 188 125 150 190 178 145 158 185 120 120

19. What do you mean by statistical enquiry? Explain the different methods of Co}iecting .

primary data.
HORIONT WOBREPIOD Wi IFeH IPNHTOO? THPWT TIOINY XoNBE DG

TFONYD, IFO.

¥k k K+ ¥ %
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